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TORITAToRT T L e

TORITIIRT A . e et

g BE[| B[ TR TE 5
. T FETAAT (ST foIrge® SISt U IV SHISTEI T 39 IV 717 AIegerd | Draw
an angle joining the given points using ruler and write the name of that angle. [2]

Pe
Q [ ] [ R
ST ATH (Name of angle) ......ccccovveeveecvieciieecieeee

2. fezT=n) WW@@)@HI Write the measurement of the given angle. [1]




3. @TEvE AB ﬁmé@@m Write the length of line segment AB. [1]

A B
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AB= oo, Tl (cm)

¥. feguani WWWW T WWW@@:@'{I Write the names of the

parts of the given figure shown by arrows. [3x1=3]

N 3

(E@) e, >
L) YR —>
Y i?:sl{ohl Hs{@qlcﬂsc ﬁma'@\!ﬁ'ﬁl Write the given numbers in words. [2 x1=2]
(B1) 2,850 oot
(BIT) 45,32 i

&. HEEAT 248730 TS TAHI ATThTHT S T8 T 4 T TATHH e | Present the
number 248730 in the place value table and write the place value of 4. [2 x1=2]

4 ! TIHE (Place value of 4) = ....ccoeeeiiiieiieee.




. @It 313 W | Fill in the blanks. [2x1=2]
() 563 TATS ATSTHDT THT AT T oo 0 |

The rounded value of 563 to the nearest tenis ...................ooenis
(@) 4870 TS ISR TIHT T TET v O |

The rounded value of 4870 to the nearest hundred is ............cccoenn.. ..

. %HWT@?I’F[I Calculate: [4 x 1=4]

@) 8545 (@) 7249 M 325 D N

+3680 —2373 x 7

R. 72 T 14 ! IMTHATTE 6 TSI Wﬁf@v_@ ? What is the value, when 6 is subtracted from

the sum of 72 and 14? [1]

0. faguent aeEaTRRTe SwyE i, Swe T T i weea seasTeid | Identify

proper fraction, improper fraction and mixed number from the given numbers. [3x1=3]

7 3 3
- 2 —, =
3 5 4
B'Q'flﬁﬁﬁq:[ (Proper fraction) = ...........c...........

SIRERED = (Improper fraction) = ....................

fafsra gg@am (Mixed number) = .......ooooeeveeee.n.



%2, R F9ET RY, fimees ﬁﬁwaﬂﬁﬁl Convert 2 hour 25 minutes into minutes. [1]

¢R. @'IFﬁHﬁB‘ITIT?;CI'{LTﬁ ageAn ﬂi%ﬁ'{{l Fill the appropriate number in the box. [1]

15— =9

%3, TTeHT Tieh STTEATS = AT ST helTs SHISS, eI | Write whether it represents a

variable or a constant in each case below. [2x1=2]

(%) X T T3 ATt AR T SHSS ..o
X denotes the name of a Nepali month ....................

(W) A A SITGHRT 4 TTA SRS |,

a denotes 15" of Baisakha ....................

%%, feguent foretent e1ea@M T UvgEeh! ST Egt‘»lH\l Study the given bill and answer the

following questions. [3 x 1=13]
UM |: 347650145 foret 9 056
BRI
TS, foe T
ShdTeh! T : Toueh wean fafd: 2081/05/16
4. fereror qieHTOT TE, T T,
1. 18 7.5 250 1750
2 ISl 2 %S, 140 280
3 IR 1 3. ST, 370 370
4 EXy 3 g 120 360
S 2760
HFEY: g3 TSI AT T WIS BT A4
IEETII




(%) TGAhT T % S ? What is the name of ShOP? .......veeveeeereennnns

(@) T o.M, GracTTeh! Jod Hid @S2 What is the cost of 1 kg orange? ..................

@) feues TRdTel ST Shid ST BADRA Bzl ‘\%@_{ ? What is the total amount of the

fruits bought by Deepak Meheta? ...........ccceeneenee.



